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Q6. is the synonym of "ETHNIC".

A. Cultural B. Hereditary
C. Religious D. Modern
Q7. is the antonym of "TUMULTUOUS".

A. Glamorous B. Blunder
C. Peaceful D. Chaos

Q8. Identify the meaning of the idiom in the sentence.
"You will have to pull yourself together."

A. To calm down and behave normally B. To pack your bags

C. To run away D. To stand up

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence.
"You has to be at my place on 10:00 am."

A. You have to be at my place at 10:00 am. B. You has to be on my place at 10:00 am.
C. You have to be at my place on 10:00 am. D. You has to be at my place at 10:00 am.

Q10. Complete the sentence by choosing the correct form of verb from the following.

All the birds have been (fly) together.
A. fly B. flew
C. flown D. flying

Q11. Who is the former Indian cricketer who has been recently appointed as the new coach of
Indian women's cricket team?

A. V. B. Chandrasekhar B. Manoj Prabhakar

C. W. V. Raman D. Sanjay Bangar
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Q11. vd vt et i € 5% a1et & & Wil wifea fohhe i o T i % &7 # s o mam 27

A. T, o, HeEr B. Haitsl TR
C. sseg, dl. WA D. Holg §1918

Q12. Who was the last Governor General of India before India became a Republic?

A. Shri Vallabhbhai Patel B. Shri Rajendra Prasad
C. Lord Mountbatten D. Shri C Rajagopalachari

Q12. i 3 7o I § UEST A T ST TR S F or?

A. 5 TooTeTHTS gl B. & Tawgr 941G

C. s Acded D. &t &Y IJerearerany

Q13. Activists of the Chipko Movement to prevent felling of trees.
A. Stick warning posters to the trees B. Tie dogs to the trees

C. Stick thorn branches around the trees D. Form a circle around the trees
Q13. 4t 1 whers =i Tt 3 forw Fermeht ticien ECapET

A. 9T T B AT N B. 9T T gl T 1

C. USh & aRT 3R FHrelr Ar@e Ko & D. 98t & IRT 3} Teh ORI Fall of

Q14. Which Indian film actor is the current ambassador of the "Incredible! India" Campaign?

A. Shri Amitabh Bachchan B. Shri Aamir Khan
C. Mrs Priyanka Chopra Jonas D. None

Q14. = w1 el e stfirar " srqer | W (Fhfseat! fean)" sifimm s adam Tera 87
A. AT AT Seee B. &1 3nfaR @t
C. e Rzt e S D. #1g A&l
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QI15. Where is the historical battle ground Kala Amb situated in Haryana?

A. Mahendargarh B. Kurukshetra
C. Panipat D. Sonipat
Q15. zfemn # feera feretfes 72 fam e s el 27

A. AggIG B. el

C. gr=iad D. ®ieiad

Q16. The glory and strength of which of the following cities of Haryana was discussed in the
book written by Chinese traveller Hiuen-Tsang?

A. Panipat B. Thanesar
C. Mahendragarh D. Kurukshetra

Q16. =it amft g-ewim gr fort 18 Tk # wfamom & fer wret i wfean S wiith o€ s 6 T of?

A. Trefad B. UER

C. AgaIG D. FeaTd
Q17. Razia Sultan was killed in district of Haryana.
A. Panipat B. Kaithal

C. Sonipat D. Bhiwani
Q17. < gear it e, sf@mm & et 7 1 g offy

A. griTad B. el

C. |iefad D. el

QI18. The Haryana cabinet Minister who is incharge of Tourism is

A. Shri Manohar Lal Khattar B. Shri Ram Bilas Sharma
C. Captain Abhimanyu D. Shri Narbir Singh
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Q18. zfemm % e it st wieT F |
A. #T AAER ol TWeex B. &t I fema T
C. e Ay D. &Y WX &g

Q19. The largest mandi of the country is being set up over 600 acres in

A. Meham B. Tohana
C. Hansi D. Gannaur
QI9. a1 it werd w1t wet 600 The & T wonfua it ST @ R
A. FgH B. elgrer

C. gt D. Tt

Q20. Which of the following is NOT a feature of the recently announced Haryana Chatra
Parivahan Suraksha Yojana 2018-2019?

A. Ensuring and increasing safety of women B. Free traveling facility

C. Merging educational institutions so that safety = D. Applicable for all school and college students
can be assured

Q20. foferfiae # & % € et & § =ifyq gRamn squ i g @ 2018-2019 i fesivar 72 22
A. A3 T greT GiaRed #eem AR serer B. W I I grar

C. TRI&T0T HEATAT T ST cifeh GR&T T IMRAMA fGd1 . Tl Tohof 3R FHlelot & BT o fAT o9y
ST @

Q21. Lakshay Sheoran, Haryana's teenage sportsman from Jind, won a silver medal in at
the 2018 Asian Games.

A. 800 metres B. Trap shooting

C. Discuss throw D. Javelin throw
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Q21. zfemm ¥ sfiz ¥ R Raee aem v 3 2018 uhier |t §  ToId g S|
A. 800 #rex B. &9 efear
C. =g o D. #TaT ther

Q22. Department of Industrial Policy and Promotion (DIPP), part of the Ministry of Commerce
and Industry, in collaboration with the World Bank released the final rankings of states
and Union Territories in Ease of Doing Business (EODB). Haryana is ranked

A. First B. Second
C. Third D. Fifth

Q22. i ifer 3t waed= fmn(DIPP) St 76 anfitsar 31t 3ot Hamerr o1 2w 2, Jo oo % SewIidT § =6 &0

&t westar (EODB)# T=ai 31X &g wnf¥a westi it sifaw ek s/ i 81 sf@mom sl woye foa mam =
A. TgeT B. GRT
C. drer D. graar
Q23. The _____ dance is performed during the month of Phalgun by farmers.
A. Loor B. Phag
C. Daph D. Dhamal
Q23.  qer o % WA forwmt g fope S R
A. T B. BT
C.s%w D. gdATel
Q24. is a bow instrument, used both in Haryana's folk and classical music.
A. Bansuri B. Ektara
C. Been D. Sarangi
Q24. T o 79 B, TSRt Swei sfEmn & ek o sreh wiia # fohe s 2
A. SIgd B. TahdRT
C. & D. HRa
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Q25. Which Indian composer and playback singer became famous for the song "Tune mere

jaana"?
A. Deepchand Nirmohi B. Gajendra Verma
C. Vishnudatt Kaviratna D. Om Prakash Aditya

Q25. =i @1 el wifiehrt S T, " ST T % forg wftg € mn?

A. e A B. Teig gAT
C. fasues sfaee D. 3NH WehIel ey

Q26. Which cartoonist drew cartoons on the Kargil war?

A. Paresh Nath B. Sudhir Dar
C. Shekar Gurera D. Mario Miranda

Q26. fopm wréfe ¥ FRfTe 78 W F1e T=?
A. IR AT B. g¥R 3R

C. AT T D. sRaT i

Q27. Which of the following is NOT an objective of the Haryana Urdu Akademy?

A. Promote and propagate Urdu language in B. Publish and familiarize the literary contributions
Haryana. of Urdu writers.

C. Render financial aid for publishing the books of D. Publish manuscripts & books of Urdu literature
Indian writers. penned down by the writers of Haryana.

Q27. it & =, sheEmn 3¢ st 1 T R T 77
A. RATOT 7 3¢ TS &t FeTaT &1 3R 3TH IR FEAT| B, 3¢ @eh & Aifgfedss ARTEre i Farfd &detm 3R

qRTIT AT
C. #RAT @l I T TR el & fow faeiar D. gRaoT & Sr@ert gar ford oy, 3¢ wifgca
HETIT HeTet e argfafarat 3R qEasht Y JehfRId |
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Q28. Which river feeds the Ottu barrage, a water reservoir in Haryana?

A. Ghaggar B. Yamuna
C. Kausalya D. Dangri

Q28. sitz 71, wfemn #1 wk s, # o 7 1 ar S 82
A. TR B. T

C. splerear D. SERY

Q29. Identify the district that is not irrigated by the Western Yamuna canal.

A. Ambala B. Karnal
C. Jind D. Gurgaon

Q29. ufért e Tet g fifera fored 1 T w4
A. 3T B. el

C. Siig D. I=3Na

Q30. Haryana state is largest in area when compared to which of the following states in India?

A. Andhra Pradesh B. Chattisgarh
C. Bihar D. Kerala

Q30. v % formferfaa Tt & & forg Toa 1 e & 2R 1 Sehe Sk 87

A. 3¢ geRr B. &<iradTe

C. fogr D. el

Q31. The Yamuna river exits the Haryana state in district.
A. Karnal B. Faridabad

C. Ambala D. Yamunanagar
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Q31. e 7t et 1 o T & ST e )

A. FEAT B. ®lerere

C. 3fFaTel D. IHATR
Q32. Tosham hill range is in district of Haryana.
A. Bhiwani B. Hisar

C. Yamunanagar D. Gurgaon
Q32. drww uda e, s F e & 21

A. Tars B. RER

C. FHATR D. Izama

Q33. Who is equivalent to the President of India at State level?

A. Governor of State B. Prime Minister of India

C. Chief Justice of India D. Attorney General for India

Q33. =14 T57 T W ARG % Tgufa & e B 87

A. TST & TeqdTel B. $Rd & Jermeia=
C. AIRA & FET ~radrer D. $Rd & 37elell STeitel

Q34. The Chief Election Commissioner of India can be removed from his office only by the

A. Parliament of India B. President of India

C. Chief Justice of India D. Prime Minister of India
Q34. wm & T T TR 1 39 e 4 f ZRT §2TAT ST Hehal 2
A. HRd $r T B. $TRd & Iseafa

C. Rd & FTT ararder D. #IRA & FeTTHA
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Q35. Narnaul is the headquarters of district in Haryana.
A. Faridabad B. Mahendargarh

C. Sonipat D. Bhiwani

Q35. arra, st % 5 1 e B

A. BlIeTsTe B. AgaIG

C. |efad D. farir

Q36. What is the binary equivalent for decimal number 16?

A. 10001 B. 10002
C. 10000 D. 10003

Q36. zemem (fawer ) e 16 & fore smedt wnges 71 22

A. 10001 B. 10002
C. 10000 D. 10003

Q37. With which of the following states, Haryana Government is having a dispute over the
Satluj-Yamuna Link (SYL) canal?

A. Delhi B. Punjab

C. Rajasthan D. Jammu & Kashmir

Q37. weeret-ag feie (Taamear-S Y L) et & wmwet # freforfaa # & fof w7 & wrer sfamn s 1 e o @
2?

A. feeelr B. USIE

C. TrerEuTe D. STFH 3R &R

Q38. National Environmental Engineering Research Institute (NEERI) has proposed cage-free
housings in a phase-wise manner in Haryana to end which existing system in poultry

farming?
A. Use of antibiotics B. Unhygienic conditions
C. Layered battery Cages D. Improper disposal of poultry litter and waste
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Q38. ar gateror SSfifaforn sra™ v (Tsmemd-NEERI) 3 wiff urer & foe diser saeen 1 aumg w0 &
fore sfeamon & wror-ag, ale & fiSR-1e 7 T SedTE W 87

A. TETaifes gansit &1 gareT
C.Wmﬁﬁ

Q39. Half byte is known as:

A. Bit
C. Nibble

Q39. 31rar srge % ®Y H ST ST &:
A. f5e
C. Assar

Q40. Pick the odd one out.
Water melon, Guava, Mango, Papaya

A. Mango
C. Papaya

Q40. 3TETA T = F

A. 3TH

C. gdrar

Q41. aCb: nPo :: sUt : ?

A. cDe
C. Stu

Q41. aCb: nPo :: sUt : ?

A. cDe
C. Stu

December 17, 2019
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Q42. Look at this series: 7, 16, 25,34, .
What number should come next?

A. 38 B. 40
C. 43 D. 49
Q42. g sigen = A & 3W: 7, 16, 25, 34, ?

v fore & e W i o e et =ntee?

A. 38 B. 40
C. 43 D. 49

Q43. In certain coding system, if "Cricket" is coded as #T71, then "Football" is coded as:
A. F@21 B. O#27
C. %L82 D. #1234

Q43. =ft us e wmwr & Cricket &1 #T71 ferar smar @ Football & @ ferar smam?

A. F@21 B. O#27
C. %L82 D. #L234

Q44. In a High School, of the 200 seniors, exactly 40 were in the Arts club, 60 were in the
Language club, and 10 were in both. How many students were neither in the Arts club nor
in the Language club?

A. 80 B. 110
C. 90 D. 100

Q44. w = wret & 200 BT § &, 40 I et Foe # 9, 60 B A1 T # 9, 3 10 B e # 9 v v A A
AT T | 9 3T T & AT et 7Y

A. 80 B. 110
C. 90 D. 100
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Q45. In a cricket match, a batsman hits a boundary 4 times out of 20 balls he played. What is
the probability that he did not hit a boundary?

A.1/2 B. 4/5
C. 3/4 D. 1/5

Q45. u= ferere B9 1, T Soaat A4 20 e Tawt 4 =i @) =i T T ht SwreET Rt 872

A.1/2 B. 4/5

C. 3/4 D. 1/5

Q46. A joins two points on the circumference of a circle.
A. Tangent B. Sector

C. Radius D. Chord

Q46. w T g =t afefy ox feud 21 feigar i et @

A. FaeEr B. &1F

C. B=ar D. Sfrar

Q47. How many bags are required to fill 1200 kilograms of rice if each bag can be filled with
24 kilogram of rice?

A. 64 B. 35
C. 50 D. 46

Q47. fe g a1 1 24 forelt =mae v srar & a@r 1200 forelt =maet v % for et sift ot seea weift?

A. 64 B. 35
C. 50 D. 46

Q48. Why does a silver tea cup have a black ebonite handle?

A. Highly fragile B. Comfortable gripping

C. Heat resistant D. Water- resistant
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QA48. =it ot = % %9 T el TT 1 WSS S &1 o BT 27

A. S8 TSR B. 3RTHCEAS T3

C. T wfaRedr D. 7ot FiaRredr

Q49. What is the chemical name of common salt?

A. Sodium bicarbonate B. Sodium carbonate

C. Sodium chloride D. Sodium hydroxide
Q49. wrermor wes w1 TR T =& E?

A. aif3aa sEeElde B. @ifsa# wrefde

C. Q3T FARTSS D. QI3TH gBsFaSs

Q50. How many chambers are there in a human heart?

A. 4
C.2 D.1

Q50. we #a geg # fora et 8 87

Q51. If the width of forbidden gap between valence and conduction band is very small, then the
material is

A. conductor B. insulator

C. semiconductor D. solid

Q51. #fs Icia oiv Shedewm e % s fiftg fawe i et sga w7 St 2, dr aiomr gare 3
A. gaTersh B. [Adargs

C. Jara® D. 3
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Q52. Which of the following is a pentavalent impurity element?

A. Boron B. Aluminum

C. Phosphorous D. Gallium

QS52. fy=fafad & & 4 a1 & dewae afte qad 87
A. IR B. TegHiaas
C. BIEPRY D. dfogsw

Q53. The SI unit for Reluctance is

A A*tb A
. Wh
% Wb
W L
a o. 44
C.
Q53. freaéa i SI gohté 2
A A*tb A
. Wh
% Wh
W A
A 0. 44
C.

Q54. If Input and Output junctions of a transistor are reverse biased then the region of operation
is

A. Active B. Saturation

C. Cut off D. Inverted

Q54. =f wr zifitet % gz 3R sTseye Siwv e sree &, d STeE i 4 & 3
A. |fshg B. @qfed

C. 3 D. HH-HIT T
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Q55. The turn on voltage of a Germanium diode is ___

A. 0.7V B. 0.3V
C. 0.1V D. 1V
Q55. siifrm gm@tE & ed-3 aiees H

A. 0.7V B. 0.3V
C. 0.1V D. 1V

Q56. The r.m.s value of Sinusoidal Current is

A. 0.637 I B. 0.5 I
C.1.414 1, D. 0.707 I
Q56. grEzed i & r.m.s 79 BT 2

A. 0.637 I B. 0.5 I
C.1.414 1, D. 0.707 I,

Q57. If a forward current of PN junction diode is 26mA, then the value of dynamic resistance is

A. 0.37Q) B. 0.67()
c. 10 D. 37002
QS57. afe PN oM eMie 1 %@ # 26mA 2, @t nfasfia sfda wram &
A. 0.370) B. 0.67()
c. 10 D. 3700)

Q58. The Important Advantage of FET over BJT is:

A. Better Thermal Stability B. Very Low Input Resistance
C. Very High Input Current D. Zero input Resistance

December 17, 2019
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Q58. BJT w FET 1 weeaqyf o 2:
A. S8R H FR2Rar B.agﬁwsﬂgtmw

C. 9gd 379 §Y¢ FE W D. =¥ ga9e Sfalir ¥

Q59. What is the current gain of Common Emitter configuration?

Ic Ic
A. B B. B
Ig Ig
c. 's D. lc

Q59. wiw wfirer Fifwiar % ware i afg & 2?

e e
A B B. 'E
e e
C Ip D Ic

Q60. What is the binary equivalent of decimal 13?

A. 1400 B. 1110
C. 0014 D. 1101

Q60. smera 13 % areadt % st 77 27

A. 1400 B. 1110
C. 0014 D. 1101

Q61. What is the decimal equivalent of octal 2577

A. 117 B. 175
C. 177 D. 115
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QO1. 315 257 % wmerd 3 ST =T 27

A. 117 B. 175
C. 177 D. 115

Q62. What is the ASCII equivalent of letter 'a'?

A. 01000001 B. 01111111
C. 01100001 D. 01001001

Q62. 3" s1er % st ASCII == 2?2

A. 01000001 B. 01111111
C. 01100001 D. 01001001

Q63. In a transformer, the path of magnetic flux should have

A. high magnetomotive force B. low reluctance
C. low magnetic flux D. high reluctance
QO63. w ziEwmit #, ot yaTE A 1 BT =R

A. 3T9 gehcd S B. & gfdsdFs

C. & Yehid JaTg D. 3=a yfasdws

Q64. Core losses of a transformer can be determined by

A. Closed Circuit Test B. Open Circuit Test
C. Faraday’s Test D. Litmus Test

Q064. © giawnit i Te THaH g i feram ST wekar 2
A. FoliEs didhe adieror & B. 3ituet wfdhe adiefor &
C. 38 & wdiefor & D. foeaw uderor &
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Q65. A transformer on no load has an induced emf of 230V (rms), draws a current of 1A(rms)
and having angle between them is 83.76° then the value of core loss is

A. 15W B. 10W
C. 25w D. 20w

QO65. farr dre aret wsk giEwrt # Ui emf 230V (rms) 2, it 1 A(rms) =1 shic ST @ i 3o i o1 1o

83.76° 2| 7

I T g 1 A BT 2
A. 15W B. 10W
C. 25W D. 20W

Q66. An Ideal Op-amp has:

A. Infinite R; B. Zero R;
C. Infinite Ro D. Zero Ay

QO66. us srrest wismarene o o & :
A. 35T R; B. eFF R

C. 311=d Ro D. =T A

Q67. An inverting amplifier has Ry = 20K€Q and R;= 2KQ. Its Scale factor is

A. 10 B. -10

C. 103 D. -103

Q67. we zaféT waewrR &1 Ry = 20KQ 3t R1= 2KQ 2 | z0e @hat et 2
A. 10 B. -10

C. 103 D.-103

Q68. If @gc =0.99 then By is .

A. 0.99 B. 99
C. 0.59 D. 59
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Q68 Ifg @4 =0.99 qar ﬁdc BT 2
A. 0.99 B. 99
C. 0.59 D. 59

Q69. What is the speed of an induction motor, when slip is zero percent?
A. Zero B. Rated Speed

C. Full load Speed D. Synchronous Speed

QO9. feem F v wferera § EH W $eaRH e i wfd @ aeft?

A. T B. fuiRa aifar
C. ot 3R arfa D. Jegehlicieh Il

Q70. The speed of an induction motor will be Zero when slip is

A. 100% B. 50%
C. 25% D. 0%
Q70. e diet i wife 371 B, 7ot et 2 |

A. 100% B. 50%
C. 25% D. 0%

Q71. In Synchronous motor

A. Stator and rotor fields rotate simultaneously B. Stator will rotate and rotor will be static
C. Stator will be static and rotor will rotate D. Both Stator and Rotor are static

Q71. qeoepiferes e & |

A. T 3R e Hies Teh A1Y god & B. T g 3R Aex &R wam

C. ®ex fuR Tgam 3iR e gaam D. T 3R Aex gt feem W
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Q72. IGCT means

A. Integrated Gate Commutated Thyristors

C. Integrated Gate Commutated Time
Q72. IGCT =1 "aets 2
A. 3819IES I HFYeLs AIREN

C. 381Ies e FrYees <A

B. Integrated Ground Commutated Thyristors
D. Integrated Gate Controlled Thyristors

B. NI U138 HFYees YIRETX
D. &S A Sheles YARER

Q73. In an SCR, the Holding Current is

A. The minimum anode current to maintain the
thyristor in on state

C. The minimum cathode current to maintain the
thyristor in on state

Q73.SCR #,

A. YRIREET T =] TG & T 7AqH TaAls e
C. YrAIREX &1 97 WA & AT #geTaq FAs e

B. The maximum anode current to maintain the
thyristor in on state

D. The maximum cathode current to maintain the
thyristor in on state

%I Bl i Fed 2l

B. UrARE &l °Te] W & T 3fehad Tals i
D. YrARFET FI =Te WA & AT HfRhdA HUs Al

Q74. For SCR to be in ON state, Which of the following relation is correct?

A. I > Iy
C.I. < Iy

B. I|_ = IH
D. | In=1

Q74. SCR # =Iref @ =i fRearfer #, Frefeafiaa & & 17 @ Grery et 37

A. T >y
C.I.<Iy

Q75. In an SCR, Blocking state means

B. I|_ = IH
D. ILIH = 1

A. The forward anode current of a thyristor is
reduced below its holding current

C. The forward cathode current of a thyristor is
reduced below its holding current

December 17, 2019

B. The forward anode current of a thyristor is
increased above its holding current

D. The forward cathode current of a thyristor is
increased above its holding current
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Q75. SCR 1, sifdmr ®e &1 Haetd, |

A. UIERTCT & BIRAS TS FC HI $Th g8 HC T
FHH I a1 AT §

C. UERTR & BRAS HATS FT FHl TS glfesT I T
FH F AT AT §

Q76. FDMA is

A. Frequency Division Multiple Access

C. Frequency Doing Multiple Access
Q76. FDMA =1 50 7™ 2|
A. hrdT f3diere Afecad teay

C. shierddr ggor Afecae Ty

B. USRI & BRAS TAIS e ! 5TF slfesdT Fe T
Sor fear ST &

D. ATSRTEX & BRAS HAS FE Hl TS Bllegdl I T
Sor fear ST &

B. Full Division Multiple Access

D. Frequency Division Moving Access

B. Pt f3disier AfeeTe v
D. shrerdelY f3dfeter #fder v e

Q77. Choose the correct compression technique used in PCM:

A. B-law
C. D-law

B. A-law
D. C-law

Q77. PCM # seerer o1 i areft wrdh vt aarefir =61 g

A. B-law
C. D-law

Q78. BPSK is

A. Binary Phase Shift Keying
C. Bandwidth Phase Shift Keying

Q78. BPSK @1 o 2|

A. STSeRT %ol 19 &1
C. dsfasy et Rie Hir
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B. A-law
D. C-law

B. Both Phase Shift Keying
D. Basic Phase Shift Keying

B. & ot R &
D. af&eh %ot RIre hr
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Q79. If the positive half interval pulse is followed by a Zero half interval pulse for transmission
of '1' then the format is

A. Polar NRZ format B. Bipolar NRZ format

C. Unipolar RZ format D. Polar RZ format

Q79. 5z '1' % ziafiym % fog difsifea 2 getact ueq #1 iU 1% Toiae Ted Hidl Hidl 8, al IEd
gl

A. 9ok NRZ 9T&T B. sT89ieRk NRZ 9%

C. JfAdeR RZ yred D. 9leR RZ &9

Q80. The Solid angle suspended by the hemisphere at its center is

A. T Steradians B. 27 Steradians

C. 37 Steradians D. 47 Steradians
QB80. fereft arefiier grr &k g # Fretfora foRd T S Ao T A 2t 2
A, Tf3Ta B. 27 ¥Xf3uA

C. 3 'f3Ta1 D. 47 TRF3T

Q81. Candle Power can be defined as

A. The number of lumens emitted by the source B. The number of lumens emitted by the source

per unit solid angle. per unit angle.

C. The number of lumens emitted by the source D. The number of lumens emitted by the source
per unit time. per unit frequency.

Q81. et draw 1 % & I wiewTfira feam S g 3|

A. TET B gart 9SS oI 10T 3cafold gast 1 B. el 9 qarr ufd s ot 3cafsid oae T dear
e

C. forel A @ 9 318 7T 3catold A & @&ar  D. fandr Jia gart ufd s1$ gl seafoia Jae &
parc)
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Q82. Determine the distance for a 25 c.p lamp from a normally placed screen in order that the
illumination shall be 10 lux

A. 2.58M B. 1.58M
C. 4.58M D. 3.58M

Q82. grmr w9 & welt 7 BAA & 25 ¢.p 7 & fore gt b frerfor T e swebrer 10 @ 2|

A. 2.58M B. 1.58M
C. 4.58M D. 3.58M

Q83. The acronym CPU stands for:

A. Central Processing Unit B. Common Processing Unit

C. Central Programming Unit D. Common Programming Unit
Q83. CPU =1 g am &

A. dge N g B. hide WafdT gfoe

C. Heof wranfder gfae D. FiFel JranfHeT Ifere

Q84. In open loop control system:

A. the control action depends on Size of the B. the control action depends on System variables
system

C. the control action depends on the input signal D. the control action independent of the output
Q84. i T shorer foreem #:

A. Ferel T RATed F PR W FIR T B B. &gl TarleT faTesd aRuaed W AR ar g

C. &helel T SoA9e ffetel TX SR e g D. &elel TaleT 33y ¥ Tl Biell &

Q85. Total Internal reflection can take place when

A. Refractive Index of core is greater than that of B. Refractive Index of core is less than that of
Cladding Cladding

C. Refractive Index of core is equal to Refractive D. Refractive Index of core is zero.
Index of Cladding
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Q85. w& , 1 et ST T B 3

A. R HT AT Hehieh, FoAlSdT & IJdcieh i Pl B. H HT IS Fdhish, FoATST & HTdclh Feehich i
Tor 3 e Qe & Tt H A gl

C. PR T I Hahih, FATSIT & Jqdcieh Hahih & D. B HT 3qdcieh Foahieh Yo BIcll &
EREr G IR

Q86. If numerical aperture of an optical fiber is 0.03 then the acceptance angle is

A.177° B. 17.7°
C. 0.177° D. 1.77°

QB6. =fs farelt sitfteshet Prgsr 1 TeaTers 9=t 0.03 2, dF 3ok wiewfa swior____ 2|

A. 177° B. 17.7°

C. 0.177° D.1.77°

Q87. In an optic fiber the angle of light must be equal to or less than the critical
angle.

A. Acceptance B. Propagation

C. Incident D. Refraction

Q87. u= siiftesrar wrEaR H, WeHTT FI HIVT I Shifieh IV % SIS ST IH HH ST =1ey|

A. TR B. TR

C. 3mace D. 39ade

Q88. In an optical fiber, of cladding material is less than that of the fiber core material.

A. refractive index B. Strength

C. Stiffness D. Ruggedness
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Q88. uw itftesret wrger #, FAET HfET H1 , BTSSR R A § 7 2l 3
A. 3ac Feehieh B. &
C. F3Rar D. 3r8#HdT

Q89. If the angle of incident is zero degree, then percentage of power loss when light travels
from air (n=1) and water (n=1.5) is

A. 3% B. 2%

C. 4% D. 5%

Q89. s wehrer amg (n=1) it Tt (n=1.5) & a0 et 2, i AR swiferer shivr g1 @i 7, o 3oif < =y b wferera
Sl

A. 3% B. 2%

C. 4% D. 5%

Q90. In a step index fiber, core index n; =1.5 and cladding index n» =1.4 then the numerical
aperture is

A. 0.338 B. 0.438

C. 0.538 D. 0.2

Q90. 29 wiger §, w29 ny =1.5 3R FAfET =29 o =1.4, A HATHF U= gl
A. 0.338 B. 0.438

C. 0.538 D. 0.2
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